
Mounting plate | Plaque de montage |  
Piastra di montaggio | Placa de montaje

B
E
R
O
T
E
C

B
E
R
O
T
E
C

Benutzerhandbuch
User Guide
Manuel d‘utilisation
Manuale d‘uso  
Manual del usuario

Montageplatte |  AMPS kompatibel



4

B E R O T E C  Deutsch

SAFETY INSTRUCTIONS
Congratulations on your purchase of a BEROTEC product.

If you have any criticism, tips, suggestions for improvement or a special request,  

please do not hesitate to contact us.

This document serves as a basis for the safe use and operation of the product. In particular, 

the safety instructions must be observed by all users:
•	 Ensure that all parts are properly and securely fastened.
•	 Check the fastenings regularly to ensure they are secure.

•	 Only carry out the installation if you have the necessary technical knowledge.

The mounting plate serves as a base for attaching devices and accessories to the motor-

cycle. The hole pattern of the mounting plate was selected so that it can be mounted 

on the handlebar clamp of the desired vehicle in conjunction with the M8 special screws 

(GTIN: 0301660707019 - not included in the scope of delivery). The mounting plate can also 

be attached elsewhere, but not every application and location could be taken into account 

by the manufacturer during development.  For this reason, the warranty is only provided 

for the first mounting option mentioned. Any other use is at your own risk and excludes 

any warranty. 

Installation and use must be carried out in accordance with these instructions and the 

intended use. No liability is accepted for damage caused by improper use or failure to ob-

serve these instructions.

The installation of this product requires basic technical knowledge. Observe all instruc-

tions in this manual and in the vehicle manual.

Please note that the use of accessories and special attachments on the vehicle may invali-

date the operating license.

Fitting is intended for vehicles in their as-delivered condition. Mounted accessories can 

affect the driving characteristics and stability of the vehicle.

B a s i c  s a f e t y  i n s t r u c t i o n s

I n t e n d e d  u s e

Operating instructions status: 05/2024 

 

Contact for queries: info@berotec.de 



5

 Deutsch English

Scope of delivery
	» 1x mounting plate of the selected variation

	» c 4x M3x16 fixing screws

Make sure that all parts listed in the scope of delivery are present. Once you have selected 

the mounting location, check that all fixing points are in the same plane and are cong-

ruent with the hole pattern of the mounting plate. During installation, there must be no 

tension in the mounting plate caused by uneven application of force or a deviating hole 

pattern.

The M3 fastening screws should be screwed in evenly and crosswise. The tightening torque 

of the M3 fastening screws is 1,8Nm.

The mounting plate also has an AMPS hole pattern, which is used to attach other accesso-

ries that also have the AMPS hole pattern.

All parts and connections loosened for installation must then be refitted in accordance 

with the vehicle manufacturer‘s instructions or replaced with the parts supplied. All screw 

connections must be tightened to the tightening torques specified by the vehicle manu-

facturer.Finally, check that all parts and connections have been fitted correctly. 

After the first 50 km, check the entire installation and the correct tightening tor-

ques of all screw connections. Carry out visual inspections at regular intervals. 

Observe the maximum permissible speed of 130 km/h.

Assembly



+49 7258-2009090
info@berotec.de
www.berotec.de

BEROTEC GmbH
Gewerbestr. 13

75057 Kürnbach
Deutschland


